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Consider the function 𝑓(𝑥) = 𝑥3 − 4𝑥2 − 𝑥 + 6 , 𝑥𝜖ℝ 

The graph of 𝑓 is translated two units to the left and 3 units up to form the function 𝑔(𝑥). Express 

𝑔(𝑥) in the form a𝑥3 + 𝑏𝑥2 + 𝑐𝑥 + 𝑑 where 𝑎, 𝑏, 𝑐, 𝑑𝜖ℤ 

 

 𝑓(𝑥) = 𝑥3 − 4𝑥2 − 𝑥 + 6 

𝑓 is translated two units to the left  

and 3 units up to form 𝑔(𝑥) 

 

 𝒈(𝒙) = 𝒇(𝒙 + 𝟐) + 𝟑 

 𝒈(𝒙) = (𝒙 + 𝟐)3 − 4(𝒙 + 𝟐)2 − (𝒙 + 𝟐) + 6 + 𝟑 

 𝒈(𝒙) = 𝑥3 + 6𝑥2 + 12𝑥 + 8 − 4𝑥2 − 16𝑥 − 16 − 𝑥 − 2 + 9 

 𝑔(𝑥) = 𝑥3 + 2𝑥2 − 5𝑥 − 1 

 


